

# Interpolative Reich-Istratescu-type Hybrid Contractions in Modular Metric Spaces

Sirajo Yahaya a,1,\*, Mohammed Shehu Shagari b,2

- <sup>a</sup> Department of Mathematics and Statistics, American University of Nigeria, Lamido Zubairu Way Yola By-Pass, P.M.B 2250, Yola, Adamawa State, Nigeria.
- <sup>b</sup> Department of Mathematics, Faculty of Physical Sciences, Ahmadu Bello University, Zaria, Nigeria.
- <sup>1</sup> surajmt951@gmail.com; <sup>2</sup> shagaris@ymail.com
- \* Corresponding Author

#### **ABSTRACT**

In this article, some novel contraction mappings pertaining to modular metric spaces are presented. The conditions that must be met for such operators to possess invariant points are described. Through a nontrivial case, the validity of the derived results is proven.

#### **Article History**

Received 11 Jun 2025 Revised 24 Jun 2025 Accepted 10 Aug 2025

#### Keywords:

Fixed point; Modular metric spaces; Reich-Istratescu-type contraction;

MSC 47H05: 47J25

### 1. Introduction

A fixed point result proposed by Banach [2] laid the groundwork for metric fixed point theory. According to Banach, if the self-map  $\Omega$ , defined over a complete metric space  $(X,\varrho)$ , satisfies the contraction inequality, that is, if there exists a constant  $\kappa \in [0,1)$  such that  $\varrho(\Omega\xi,\Omega\zeta) \leq \kappa\varrho(\xi,\zeta)$  for all  $\xi,\zeta \in X$ , then it has a unique fixed point. Kannan [8], who considered the contraction  $\varrho(\Omega\xi,\Omega\zeta) \leq \kappa[\varrho(\xi,\Omega\zeta)+\varrho(\zeta,\Omega\zeta)]$ , for all  $\xi,\zeta \in X$ , where  $\kappa \in [0,\frac{1}{2})$ , shows this result has a new fixed point. This result has a new fixed point. The Banach contraction principle has since been extended in a number of ways (see [25],[12],[27], and numerous others for additional information). However, the creation of new spaces and the associated fixed point theorem is one of the current advancements in the field of non-linear functional analysis. Nakano [19] introduced modular space as a metric space generalization, and Koshi [13] and Yamamuro [28] went on to study it in great detail. Additionally, Chistyakov [3, 4] introduced the idea of modular metric spaces in 2008 and constructed a novel structure employing the attributes of modular spaces. The physical interpretation of Chistyakov's recently developed modular is one of its main motivations. Specifically, a metric defined on a non-empty set indicates the distance between any two locations in the set, while a modular

This is an open access article under the Diamond Open Access.

Please cite this article as: S. Yahaya and M.S. Shagari, Interpolative Reich-Istratescu-type Hybrid Contractions in Modular Metric Spaces , Nonlinear Convex Anal. & Optim., Vol. 4, No. 2, 2025, 83–96. https://doi.org/10.58715/ncao.2025.4.6 within a set connects the elements to a non-negative, occasionally indefinitely valued field of velocities. Mongkolkeha et al. [16] studied and proved new fixed point existence theorems for contraction mappings in modular metric spaces. Hardy-Rogers contractions have fixed points, as demonstrated by Surajit et al. [30], who also provided numerical examples to back up their conclusions. Additionally, [29] demonstrates that a new class of generalized F-contraction has fixed points, and the results are subsequently used to solve existence problems for integral equations. A mixed G-monotone mapping on a modular metric space with a graph was created by Yogita and Shishir [31], who also provided fixed point theorems for this novel class of mappings. Additionally, fixed point theorems for such contractions were introduced, along with generalized presic type w-contractive mappings and highly w-contractive mappings in a modular metric space [1]. Additionally, in order to eliminate the possibility of triangle inequality and non-zero self-distance discrepancies, [5] invented the concept of partial modular metrics and gave certain fixed point theorems for four self-maps. The Uniform Limit Theorem for Metric Modular Spaces and Baire's Theorem are two well-known metric space conclusions that were established by Somaye et al. [7]. They also defined Hausdorff topology on modular spaces with metric. In addition, Rahimpoor [23] shows several fixed point theorems for partial order sets in modular metric spaces using the mixed monotone mapping feature. A few fixed point outcomes of modular metric spaces with cyclic weak  $\varphi$ -contractions that are  $\omega$ -compact and  $\omega$ -complete, respectively, were also reported in [24]. Additionally, three pairs of weakly commuting self-maps that share a single fixed point [20] extended the concept of weakly commuting mappings in modular metric spaces to the context of modular  $\omega^G$ -metric spaces. Furthermore, Doru and Ariana [6] showed that several types of convex contractions have fixed points in the setting of JS-metric spaces. Moreover, [21] introduced the notion of new hybrid generalized weakly contractive mappings in a complete metric spaces and prove the existence and unique common fixed point for this mappings. In addition, [26] introduced the notion of generalized weakly quasi contractive operators in metric-like space and investigates the existence and uniqueness of these operators' fixed points.

We note from the literature that there is a lack of focus on fixed point results of modular contraction types and associated applications. This article establishes fixed point conclusions of several kinds of modular contraction inequality in light of this gap. An example is provided to bolster the theories developed by the findings reported here. In particular, the work of Karapinar et. al [10] is considered in modular metric space.

#### 2. Preliminaries

First, we provide an overview of the basic concepts in both modular metric spaces and modular spaces (for further information, see [14, 17, 3, 4]).

**Definition 2.1.** Suppose that X is a vector space over  $\mathbb{R}(or\ \mathbb{C})$ . A modular is a functional  $\rho: X \to [0, \infty]$  such that for arbitrary  $\xi, \zeta \in X$ , the following three requirements are met:

- (A1)  $\rho(\xi) = \xi \Leftrightarrow \xi = 0$ ;
- (A2)  $\rho(\alpha \xi) = \rho(\xi) \; \forall \; \text{scalar } \alpha \; \text{with } |\alpha| = 1;$
- (A3)  $\rho(\alpha \xi + \beta \zeta) \leq \rho(\xi) + \rho(\zeta)$  whenever  $\alpha, \beta \geq 0$  and  $\alpha + \beta = 1$ .

Moreover, Chistyakov [3] claimed that if condition (A 3) is replaced by  $\rho(\alpha\xi + \beta\zeta) \le \rho^s(\xi) + \rho^s(\zeta)$ , for  $\alpha, \beta \ge 0$ ,  $\alpha^s + \beta^s = 1$  with  $s \in (0, 1]$ , the modular  $\rho$  will thus be referred

to as s-convex modular, and if s=1, it will be referred to as a convex modular. If  $\rho$  is a modular in X, then the set defined by  $X_{\rho}=\{\xi\in X: \rho(\lambda\xi)\to 0\}$  as  $\lambda\to 0^+$  is called a modular space.  $X_{\rho}$  is a vector subspace of X. Hence, it can be equipped with an F-norm defined by setting  $\|\xi_{\rho}\|=\inf\{\lambda>0: \rho(\frac{\xi}{\lambda})\leq \lambda\}$ ,  $\xi\in X_{\rho}$ .

In addition, if  $\rho$  is convex, then the modular space  $X_{\rho}$  coincides with  $X_{\rho}^* = \{\xi \in X : \exists \lambda = \lambda(\xi) > 0 \text{ such that } \rho(\lambda \xi) < \infty\}$  and the functional  $\|\xi_{\rho}\| = \inf\{\lambda > 0 : \rho(\frac{\xi}{\lambda}) \le 1\}$ , is an ordinary norm on  $X_{\rho}^*$  which is equivalence to  $\|\xi_{\rho}\|$  (see [18]).

The function  $\omega:(0,\infty)\times X\times X\to [0,\infty]$  will be expressed as  $\omega_\lambda(\xi,\zeta)=\omega(\lambda,\xi,\zeta)$  for all  $\lambda>0$  and  $\xi,\zeta\in X$  due to the disparity of the inputs.

**Definition 2.2.** [3, Definition 2.1] Consider the nonempty set X. For any  $\xi, \zeta, \gamma \in X$ , a function  $\omega: (0, \infty) \times X \times X \to [0, \infty]$  is considered a metric modular on X, if the following conditions hold:

- (i)  $\omega_{\lambda}(\xi,\zeta) = 0$  for all  $\lambda > 0$  if and only if  $\xi = \zeta$ ;
- (ii)  $\omega_{\lambda}(\xi,\zeta) = \omega_{\lambda}(\zeta,\xi)$  for all  $\lambda > 0$ ;
- (iii)  $\omega_{\lambda+\mu}(\xi,\zeta) \leq \omega_{\lambda}(\xi,\gamma) + \omega_{\mu}(\gamma,\zeta)$  for all  $\lambda,\mu > 0$ .

According to Chistyakov [3], suppose we only have condition (i') in place of condition (i)  $\omega_{\lambda}(\xi,\xi)=0$  for all  $\lambda>0$ , then  $\omega$  is said to be a (metric) pseudomodular on X. The main property of a (pseudo) modular  $\omega$  on a set X is the following: given  $\xi,\zeta\in X$ , the function  $0<\lambda\to\omega_{\lambda}(\xi,\zeta)\in[0,\infty]$  is non-increasing on  $(0,\infty)$ . In fact, if  $0<\mu<\lambda$ , then (iii), (i') and (ii) imply  $\omega_{\lambda}(\xi,\zeta)\leq\omega_{\lambda-\mu}(\xi,\xi)+\omega_{\mu}(\xi,\zeta)=\omega_{\mu}(\xi,\zeta)$ . Thus, at every point where  $\lambda>0$ , the right limit  $\omega_{\lambda+0}(\xi,\zeta):=\lim_{\epsilon\to 0^+}\omega_{\lambda+\epsilon}(\xi,\zeta)$  and the left limit  $\omega_{\lambda-0}(\xi,\zeta):\lim_{\epsilon\to 0^+}\omega_{\lambda-\epsilon}(\xi,\zeta)$  exist in  $[0,\infty]$  and the two inequalities that follow are true:  $\omega_{\lambda+0}(\xi,\zeta)\leq\omega_{\lambda}(\xi,\zeta)\leq\omega_{\lambda-0}(\xi,\zeta)$ .

If we replaced pseudomodular with modular, the same claim remains true. The metric space  $X_{\omega}$  is modular if  $\omega$  is metric modular in X. By the property of modular and metric spaces, the following are defined.

**Definition 2.3.** [16, Definition 2.4] Consider the modular metric space  $X_{\omega}$ :

- (i) Convergence of a sequence  $(\xi_j)_{j\in\mathbb{N}}$  in  $X_\omega$  is defined as  $j\to\infty$  for all  $\lambda>0$  if  $\omega_\lambda(\xi_j,\xi)\to 0$ ;
- (ii) The Cauchy sequence  $(\xi_j)_{j\in\mathbb{N}}$  in  $X_\omega$  is defined as  $\omega_\lambda(\xi_k,\xi_j)\to 0$ , as  $k,j\to\infty$  for all  $\lambda>0$ ;
- (iii) If a convergent sequence of A always has a limit that belongs to A, then A is a closed subset of  $X_{\omega}$ ;
- (iv) To be considered complete, a subset A of  $X_{\omega}$  must have a convergent Cauchy sequence in A with a limit in A.

Let a function  $\alpha: X \times X \to [0,1)$ . A mapping  $\Lambda: X \to X$  is  $\alpha$ -orbital admissible ([22]) if  $\alpha(\xi, \Lambda \xi)$  is greater than or equal to 1 implies  $\alpha(\Lambda \xi, \Lambda^2 \xi) \ge 1$ , for all  $\xi \in X$ .

 $\alpha$ -orbital admissible mapping  $\Lambda$  is called triangular  $\alpha$ -orbital admissible ([22]) whenever  $\alpha(\xi,\zeta) \geq 1$  and  $\alpha(\zeta,\Lambda\zeta) \geq 1$  implies  $\alpha(\xi,\Lambda\zeta) \geq 1$ , for every  $\xi,\zeta \in X$ .

**Lemma 2.4.** [9, Theorem 1.2] Suppose that for a triangular  $\alpha$ -orbital admissible mapping  $\Lambda: X \to X$ ,  $\exists \ \xi_0 \in X \ s.t \ \alpha(\xi_0, \Lambda \xi_0) \ge 1$ . Then  $\alpha(\xi_j, \xi_k) \ge 1$ ,  $\forall \ j, k \in \mathbb{N}$ , where the sequence  $\{\xi_j\}$  is defined by  $\xi_{j+1} = \Lambda \xi_j, \ j \in \mathbb{N}$ .

In order to formulate and prove theorems in this article, we consider the following notations:

$$\delta_{j_0}(\omega_{\lambda}, \Omega, \xi_0) = \sup \{\omega_{\lambda}(\Omega^j \xi_0, \Omega^k \xi_0) : j, k \in \mathbb{N}, j, k \geq j_0\},\$$

where  $j_0 \in \mathbb{N}$ , and

$$\delta(\omega_{\lambda}, \Omega, \xi_0) = \sup \{ \omega_{\lambda}(\Omega^j \xi_0, \Omega^k \xi_0) : j, k \in \mathbb{N} \}.$$

Let us consider the orbit of an element  $\xi_0$  by an operator  $\Omega: X_\omega \to X_\omega$  using the symbol  $O_\Omega(\xi_0) = \{\Omega^j \xi_0 : j \in \mathbb{N}\}.$ 

## 3. Main Results

Motivated by the notions of a Reich-Istratescu-type contraction introduced in [10], in this section we establish the conditions for the existence and uniqueness of a fixed point for convex contraction type mapping in modular metric spaces.

**Definition 3.1.** Let  $(X_{\omega}, \omega_{\lambda})$  be a modular metric space and  $\alpha: X_{\omega} \times X_{\omega} \longrightarrow [0, \infty)$  be a function. A mapping  $\Omega: X_{\omega} \longrightarrow X_{\omega}$  is a hybrid-interpolative Reich-Istrățescu-type contraction in the case there exist  $\eta_i \in [0, 1)$ , for i = 1, 2, 3, 4, 5 and  $\delta \geq 0$ ,  $\kappa \in (0, 1)$  such that,

$$\alpha(\xi,\zeta)\Omega_{\lambda}(\Omega^{2}\xi,\Omega^{2}\zeta) \leq \kappa J^{\lambda}(\xi,\zeta) \tag{3.1}$$

where

$$J^{\lambda}(\xi,\zeta) = \begin{cases} \kappa[\eta_{1}\omega_{\lambda}(\Omega\xi,\Omega\zeta)^{\lambda} + \eta_{2}\omega_{\lambda}(\Omega\xi,\Omega^{2}\xi)^{\lambda} + \eta_{3}\omega_{\lambda}(\zeta,\Omega\zeta)^{\lambda} \\ + \eta_{4}\omega_{\lambda}(\Omega\zeta,\Omega^{2}\zeta)^{\lambda} + \eta_{5}\omega_{\lambda}(\Omega\zeta,\Omega^{2}\xi)^{\lambda} + \delta\omega_{\lambda}(\zeta,\Omega\xi)^{\lambda}]^{\frac{1}{\lambda}} \\ \text{if } \lambda > 0, \text{ with } \sum_{i=1}^{5} \eta_{i} + \delta \leq 1, \xi, \zeta \in X_{\omega}, \xi \neq \zeta, \\ \kappa[\omega_{\lambda}(\Omega\xi,\Omega\zeta)^{\eta_{1}} \cdot \omega_{\lambda}(\Omega\xi,\Omega^{2}\xi)^{\eta_{2}} \cdot \omega_{\lambda}(\zeta,\Omega\zeta)^{\eta_{3}} \\ \cdot \omega_{\lambda}(\Omega\zeta,\Omega^{2}\zeta)^{\eta_{4}} \cdot \omega_{\lambda}(\Omega\zeta,\Omega^{2}\xi)^{\eta_{5}} \cdot \omega_{\lambda}(\zeta,\Omega\xi)^{\delta}] \\ \text{if } \lambda = 0, \text{ with } \sum_{i=1}^{5} \eta_{i} + \delta = 1, \xi, \zeta \in X_{\omega} \setminus F_{\Omega}(X_{\omega}), \end{cases}$$

**Theorem 3.2.** Let  $(X_{\omega}, \omega_{\lambda})$  be a complete modular metric space,  $\Omega: X_{\omega} \longrightarrow X_{\omega}$  be an operator. Suppose that the following conditions are satisfied:

- (i)  $\Omega$  is a hybrid-interpolative Reich-Istrățescu-type contraction;
- (ii)  $\Omega$  is  $\alpha$ -admissible:
- (iii) there exists  $\xi_0 \in X_\omega$  such that  $\alpha(\xi_0, \Omega \xi_0) \geq 1$ ,

for all distinct  $\xi, \zeta \in O_{\Omega}(\xi_0)$ . Then the mapping  $\Omega$  has an approximate fixed point property.

*Proof.* Let  $\xi_0 \in X_\omega$  be arbitrary point. Then, by Property (iii),  $\alpha(\xi_0, \Omega \xi_0) \geq 1$ . Again, for  $\xi_1 \in X_\omega$ , we have  $\alpha(\xi_1, \Omega \xi_1) \geq 1$ . In general,  $\alpha(\xi_j, \Omega \xi_j) \geq 1$ , for all  $j \in \mathbb{N}$ . Starting from this point  $\xi_0 \in X_\omega$ , we define the sequence  $\{\xi_n\}$  in  $X_\omega$  as follows:

$$\xi_1 = \Omega \xi_0$$
,

$$\xi_2 = \Omega \xi_1 = \Omega^2 \xi_0, ...,$$
  
$$\xi_n = \Omega \xi_{n-1} = \Omega^n \xi_0.$$

If there is some  $n \in \mathbb{N}$  satisfying that  $\xi_n = \xi_{n+1}$ , then  $\xi_n$  is a fixed point of T, and the proof finishes here. On the contrary case, suppose that  $\xi_n \neq \xi_{n+1}$  for all  $n \in \mathbb{N}$ . Now, using Property (i), we have two cases:

**CASE 1:** When  $\lambda > 0$ , we have

$$\omega_{\lambda}(\xi_{2},\xi_{3}) = \omega_{\lambda}(\Omega^{2}\xi_{0},\Omega^{2}\xi_{1}) \leq \alpha(\xi_{0},\xi_{1})\omega_{\lambda}(\Omega^{2}\xi_{0},\Omega^{2}\xi_{1}) 
\leq \kappa[\eta_{1}\omega_{\lambda}(\Omega\xi_{0},\Omega\xi_{1})^{\lambda} + \eta_{2}\omega_{\lambda}(\Omega\xi_{0},\Omega^{2}\xi_{0})^{\lambda} + \eta_{3}\omega_{\lambda}(\xi_{1},\Omega\xi_{1})^{\lambda} 
+ \eta_{4}\omega_{\lambda}(\Omega\xi_{1},\Omega^{2}\xi_{1})^{\lambda} + \eta_{5}\omega_{\lambda}(\Omega\xi_{1},\Omega^{2}\xi_{0})^{\lambda} + \delta\omega_{\lambda}(\xi_{1},\Omega\xi_{0})^{\lambda}]^{\frac{1}{\lambda}} 
= \kappa[\eta_{1}\omega_{\lambda}(\xi_{1},\xi_{2})^{\lambda} + \eta_{2}\omega_{\lambda}(\xi_{1},\xi_{2})^{\lambda} + \eta_{3}\omega_{\lambda}(\xi_{1},\xi_{2})^{\lambda} 
+ \eta_{4}\omega_{\lambda}(\xi_{1},\xi_{2})^{\lambda} + \eta_{5}\omega_{\lambda}(\xi_{1},\xi_{2})^{\lambda} + \delta\omega_{\lambda}(\xi_{2},\xi_{3})^{\lambda}]^{\frac{1}{\lambda}} 
= \kappa[(\eta_{1} + \eta_{2} + \eta_{3} + \eta_{4} + \eta_{5})\omega_{\lambda}(\xi_{1},\xi_{2})^{\lambda} + \delta\omega_{\lambda}(\xi_{2},\xi_{3})^{\lambda}]^{\frac{1}{\lambda}} 
\leq \kappa[(1 - \delta)\omega_{\lambda}(\xi_{1},\xi_{2})^{\lambda} + \delta\omega_{\lambda}(\xi_{2},\xi_{3})^{\lambda}]^{\frac{1}{\lambda}}.$$
(3.2)

Using powers of  $\lambda$ , inequality (3.2), gives

$$\omega_{\lambda}(\xi_{2},\xi_{3})^{\lambda} \leq \kappa^{\lambda}(1-\delta)\omega_{\lambda}(\xi_{1},\xi_{2})^{\lambda} + \kappa^{\lambda}\delta\omega_{\lambda}(\xi_{2},\xi_{3})^{\lambda}. \tag{3.3}$$

Therefore (3.3) yields

$$(1 - \kappa^{\lambda} \delta) \omega_{\lambda}(\xi_{2}, \xi_{3})^{\lambda} \le \kappa^{\lambda} (1 - \delta) \omega_{\lambda}(\xi_{1}, \xi_{2})^{\lambda}. \tag{3.4}$$

Thus, from (3.4) we get

$$\omega_{\lambda}(\xi_{2}, \xi_{3})^{\lambda} \leq \frac{\kappa^{\lambda}(1 - \delta)}{(1 - \kappa^{\lambda}\delta)} \omega_{\lambda}(\xi_{1}, \xi_{2})^{\lambda}$$

$$\leq \left(\frac{\kappa^{\lambda} - \kappa^{\lambda}\delta}{1 - \kappa^{\lambda}\delta}\right) \omega_{\lambda}(\xi_{1}, \xi_{2})^{\lambda}.$$
(3.5)

Hence (3.5) becomes

$$egin{aligned} \omega_{\lambda}(\xi_{2},\xi_{3}) &\leq \left(rac{\kappa^{\lambda}-\kappa^{\lambda}\delta}{1-\kappa^{\lambda}\delta}
ight)^{rac{1}{\lambda}}\omega_{\lambda}(\xi_{1},\xi_{2}) \ &\leq c^{rac{1}{\lambda}}\omega_{\lambda}(\xi_{1},\xi_{2}), ext{where } c = rac{\kappa^{\lambda}-\kappa^{\lambda}\delta}{1-\kappa^{\lambda}\delta}. \end{aligned}$$

Similarly,

$$\omega_{\lambda}(\xi_{3}, \xi_{4}) = \omega_{\lambda}(\Omega^{2}\xi_{1}, \Omega^{2}\xi_{2}) \leq \alpha(\xi_{1}, \xi_{2})\omega_{\lambda}(\Omega^{2}\xi_{1}, \Omega^{2}\xi_{2})$$

$$\leq \kappa[\eta_{1}\omega_{\lambda}(\Omega\xi_{1}, \Omega\xi_{2})^{\lambda} + \eta_{2}\omega_{\lambda}(\Omega\xi_{1}, \Omega^{2}\xi_{1})^{\lambda} + \eta_{3}\omega_{\lambda}(\xi_{2}, \Omega\xi_{2})^{\lambda}$$

$$+ \eta_{4}\omega_{\lambda}(\Omega\xi_{2}, \Omega^{2}\xi_{2})^{\lambda} + \eta_{5}\omega_{\lambda}(\Omega\xi_{2}, \Omega^{2}\xi_{1})^{\lambda} + \delta\omega_{\lambda}(\xi_{2}, \Omega\xi_{1})^{\lambda}]^{\frac{1}{\lambda}}$$

$$= \kappa[\eta_{1}\omega_{\lambda}(\xi_{2}, \xi_{3})^{\lambda} + \eta_{2}\omega_{\lambda}(\xi_{2}, \xi_{3})^{\lambda} + \eta_{3}\omega_{\lambda}(\xi_{2}, \xi_{3})^{\lambda}$$

$$+ \eta_{4}\omega_{\lambda}(\xi_{2}, \xi_{3})^{\lambda} + \eta_{5}\omega_{\lambda}(\xi_{2}, \xi_{3})^{\lambda} + \delta\omega_{\lambda}(\xi_{3}, \xi_{4})^{\lambda}]^{\frac{1}{\lambda}}$$

$$= \kappa [(\eta_1 + \eta_2 + \eta_3 + \eta_4 + \eta_5)\omega_\lambda(\xi_2, \xi_3)^\lambda + \delta\omega_\lambda(\xi_3, \xi_4)^\lambda]^{\frac{1}{\lambda}}$$

$$\leq \kappa [(1 - \delta)\omega_\lambda(\xi_2, \xi_3)^\lambda + \delta\omega_\lambda(\xi_3, \xi_4)^\lambda]^{\frac{1}{\lambda}}.$$
(3.6)

Using powers of  $\lambda$  inequality (3.6), gives

$$\omega_{\lambda}(\xi_{3}, \xi_{4})^{\lambda} \leq \kappa^{\lambda}(1 - \delta)\omega_{\lambda}(\xi_{2}, \xi_{3})^{\lambda} + \kappa^{\lambda}\delta\omega_{\lambda}(\xi_{3}, \xi_{4})^{\lambda}. \tag{3.7}$$

Therefore (3.7) yield

$$(1 - \kappa^{\lambda} \delta) \omega_{\lambda}(\xi_3, \xi_4)^{\lambda} \le \kappa^{\lambda} (1 - \delta) \omega_{\lambda}(\xi_2, \xi_3)^{\lambda}. \tag{3.8}$$

Thus, from (3.8) we get

$$\omega_{\lambda}(\xi_{3}, \xi_{4})^{\lambda} \leq \frac{\kappa^{\lambda}(1-\delta)}{(1-\kappa^{\lambda}\delta)}\omega_{\lambda}(\xi_{2}, \xi_{3})^{\lambda}$$

$$\leq \left(\frac{\kappa^{\lambda}-\kappa^{\lambda}\delta}{1-\kappa^{\lambda}\delta}\right)\omega_{\lambda}(\xi_{2}, \xi_{3})^{\lambda}.$$
(3.9)

Hence (3.9) becomes

$$\omega_{\lambda}(\xi_{3}, \xi_{4}) \leq \left(\frac{\kappa^{\lambda} - \kappa^{\lambda} \delta}{1 - \kappa^{\lambda} \delta}\right)^{\frac{1}{\lambda}} \omega_{\lambda}(\xi_{2}, \xi_{3})$$

$$\leq c^{\frac{1}{\lambda}} \omega_{\lambda}(\xi_{2}, \xi_{3})$$

$$\leq c^{\frac{1}{\lambda}} \left[c^{\frac{1}{\lambda}} \omega_{\lambda}(\xi_{1}, \xi_{2})\right]$$

$$\leq c^{(\frac{1}{\lambda})^{2}} \omega_{\lambda}(\xi_{1}, \xi_{2}).$$
(3.10)

Inductively,

$$\omega_{\lambda}(\xi_{j}, \xi_{j+1}) \le c^{\left(\frac{1}{\lambda}\right)^{j-1}} \omega_{\lambda}(\xi_{1}, \xi_{2}), \text{ where } j \ge 2.$$
(3.11)

Clearly,  $c=\frac{\kappa^{\lambda}-\kappa^{\lambda}\delta}{1-\kappa^{\lambda}\delta}<1$ . Hence  $c\in(0,1)$ . So, by taking limit as  $j\to\infty$  in (3.11) gives  $\lim_{j\to\infty}\omega_{\lambda}(\xi_{j},\xi_{j+1})=0$ . According to this definition, there exists  $j_{\epsilon}\in\mathbb{N}$  such that for every  $\epsilon>0$ ,

$$\omega_{\lambda}(\Omega^{j}\xi_{0},\Omega^{j+1}\xi_{0})=\omega_{\lambda}(\Omega^{j}\xi_{0},\Omega\Omega^{j}\xi_{0})<\epsilon, \text{ for all } j\geq j_{\epsilon}.$$

Let  $\xi = \Omega^j \xi_0$ , so for every  $\epsilon > 0$ , we see that there exists  $\xi \in O_{\Omega}(\xi_0)$  such that  $\omega_{\lambda}(\xi, \Omega \xi) < \epsilon$ . **CASE 2:** When  $\lambda = 0$ , we have

$$\omega_{\lambda}(\xi_{2}, \xi_{3}) = \omega_{\lambda}(\Omega^{2}\xi_{0}, \Omega^{2}\xi_{1}) \leq \alpha(\xi_{0}, \xi_{1})\omega_{\lambda}(\Omega^{2}\xi_{0}, \Omega^{2}\xi_{1}) 
\leq \kappa[\omega_{\lambda}(\Omega\xi_{0}, \Omega\xi_{1})^{\eta_{1}} \cdot \omega_{\lambda}(\Omega\xi_{0}, \Omega^{2}\xi_{0})^{\eta_{2}} \cdot \omega_{\lambda}(\xi_{1}, \Omega\xi_{1})^{\eta_{3}} 
\cdot \omega_{\lambda}(\Omega\xi_{1}, \Omega^{2}\xi_{1})^{\eta_{4}} \cdot \omega_{\lambda}(\Omega\xi_{1}, \Omega^{2}\xi_{0})^{\eta_{5}} \cdot \omega_{\lambda}(\xi_{1}, \Omega\xi_{0})^{\delta}] 
= \kappa[\omega_{\lambda}(\xi_{1}, \xi_{2})^{\eta_{1}} \cdot \omega_{\lambda}(\xi_{1}, \xi_{2})^{\eta_{2}} \cdot \omega_{\lambda}(\xi_{1}, \xi_{2})^{\eta_{3}} 
\cdot \omega_{\lambda}(\xi_{1}, \xi_{2})^{\eta_{4}} \cdot \omega_{\lambda}(\xi_{1}, \xi_{2})^{\eta_{5}} \cdot \omega_{\lambda}(\xi_{2}, \xi_{3})^{\delta}] 
= \kappa[\omega_{\lambda}(\xi_{1}, \xi_{2})^{(\eta_{1} + \eta_{2} + \eta_{3} + \eta_{4} + \eta_{5})} \cdot \omega_{\lambda}(\xi_{2}, \xi_{3})^{\delta}] 
\leq \kappa[\omega_{\lambda}(\xi_{1}, \xi_{2})^{(1 - \delta)} \cdot \omega_{\lambda}(\xi_{2}, \xi_{3})^{\delta}],$$
(3.12)

thus inequality (3.12), gives

$$\omega_{\lambda}(\xi_2, \xi_3)^{(1-\delta)} \le \kappa \omega_{\lambda}(\xi_1, \xi_2)^{(1-\delta)}. \tag{3.13}$$

Therefore (3.13) yields

$$\omega_{\lambda}(\xi_2, \xi_3) \le \kappa^{\frac{1}{(1-\delta)}} \omega_{\lambda}(\xi_1, \xi_2). \tag{3.14}$$

Similarly,

$$\omega_{\lambda}(\xi_{3}, \xi_{4}) = \omega_{\lambda}(\Omega^{2}\xi_{1}, \Omega^{2}\xi_{2}) \leq \alpha(\xi_{1}, \xi_{2})\omega_{\lambda}(\Omega^{2}\xi_{1}, \Omega^{2}\xi_{2})$$

$$\leq \kappa[\omega_{\lambda}(\Omega\xi_{1}, \Omega\xi_{2})^{\eta_{1}} \cdot \omega_{\lambda}(\Omega\xi_{1}, \Omega^{2}\xi_{1})^{\eta_{2}} \cdot \omega_{\lambda}(\xi_{2}, \Omega\xi_{2})^{\eta_{3}}$$

$$\cdot \omega_{\lambda}(\Omega\xi_{2}, \Omega^{2}\xi_{2})^{\eta_{4}} \cdot \omega_{\lambda}(\Omega\xi_{2}, \Omega^{2}\xi_{1})^{\eta_{5}} \cdot \omega_{\lambda}(\xi_{2}, \Omega\xi_{1})^{\delta}]$$

$$= \kappa[\omega_{\lambda}(\xi_{2}, \xi_{3})^{\eta_{1}} \cdot \omega_{\lambda}(\xi_{2}, \xi_{3})^{\eta_{2}} \cdot \omega_{\lambda}(\xi_{2}, \xi_{3})^{\eta_{3}}$$

$$\cdot \omega_{\lambda}(\xi_{2}, \xi_{3})^{\eta_{4}} \cdot \omega_{\lambda}(\xi_{2}, \xi_{3})^{\eta_{5}} \cdot \omega_{\lambda}(\xi_{3}, \xi_{4})^{\delta}]$$

$$= \kappa[\omega_{\lambda}(\xi_{2}, \xi_{3})^{(\eta_{1} + \eta_{2} + \eta_{3} + \eta_{4} + \eta_{5})} \cdot \omega_{\lambda}(\xi_{3}, \xi_{4})^{\delta}]$$

$$\leq \kappa[\omega_{\lambda}(\xi_{2}, \xi_{3})^{(1 - \delta)} \cdot \omega_{\lambda}(\xi_{3}, \xi_{4})^{\delta}]. \tag{3.15}$$

Thus inequality (3.15), gives

$$\omega_{\lambda}(\xi_3, \xi_4)^{(1-\delta)} \le k\omega_{\lambda}(\xi_2, \xi_3)^{(1-\delta)}.$$
 (3.16)

Therefore (3.16) yields

$$\omega_{\lambda}(\xi_{3}, \xi_{4}) \leq \kappa^{\frac{1}{(1-\delta)}} \omega_{\lambda}(\xi_{2}, \xi_{3})$$

$$\leq \kappa^{\frac{1}{(1-\delta)}} \left[ \kappa^{\frac{1}{(1-\delta)}} \omega_{\lambda}(\xi_{1}, \xi_{2}) \right]$$

$$= \kappa^{\left(\frac{1}{1-\delta}\right)^{2}} \omega_{\lambda}(\xi_{1}, \xi_{2}).$$

Inductively,

$$\omega_{\lambda}(\xi_{j}, \xi_{j+1}) \le \kappa^{\left(\frac{1}{1-\delta}\right)^{j-1}} \omega_{\lambda}(\xi_{1}, \xi_{2}), \text{ where } j \ge 2.$$
(3.17)

So, by taking limit as  $j \to \infty$  in (3.17) gives  $\lim_{j \to \infty} \omega_{\lambda}(\xi_j, \xi_{j+1}) = 0$ . According to this definition, there exists  $j_{\epsilon} \in \mathbb{N}$  such that for every  $\epsilon > 0$ ,

$$\omega_{\lambda}(\Omega^{j}\xi_{0},\Omega^{j+1}\xi_{0}) = \omega_{\lambda}(\Omega^{j}\xi_{0},\Omega\Omega^{j}\xi_{0}) < \epsilon$$
, for all  $j \geq j_{\epsilon}$ .

Let  $\xi = \Omega^j \xi_0$ , so for every  $\epsilon > 0$ , we see that there exists  $\xi \in O_{\Omega}(\xi_0)$  such that  $\omega_{\lambda}(\xi, \Omega \xi) < \epsilon$ .

**Theorem 3.3.** Suppose  $(X_{\omega}, \omega_{\lambda})$  is a complete modular metric space,  $\Omega: X_{\omega} \longrightarrow X_{\omega}$  is a self-map. Suppose that the following conditions are satisfied:

- (i)  $\Omega$  is a triangular  $\alpha$ -admissible;
- (ii) there is  $\xi_0 \in X_\omega$  such that  $\alpha(\xi_0, \Omega \xi_0) \geq 1$ ;
- (iii)  $\Omega$  is hybrid-interpolative Reich-Istrătescu-type contraction:

(iv)  $\Omega^2$  is continuous.

After that, the sequence  $\{\Omega^j \xi_0\}$  converges to a point  $\xi \in X_\omega$ . Additionally,  $\xi$  is a distinct fixed point of  $\Omega$ .

*Proof.* Let  $\xi_0 \in X_\omega$  be arbitrary point. Then as in the previous result, the sequence  $\{\xi_j\}$  converges to the point  $\xi_0 \in X_\omega$ . Since  $\Omega$  is triangular  $\alpha$ -admissible, then by Lemma 2.4, it follows that  $\alpha(\xi_j, \xi_k) \geq 1$ , for all  $j, k \in \mathbb{N}, \ k > j$ . Also, from the previous result, for each  $\epsilon, \lambda > 0$ , there exists  $j_\epsilon \in \mathbb{N}$  such that  $\omega_\lambda(\xi_{j+2}, \xi_{j+3}) < \epsilon$ , for all  $j \geq j_\epsilon$ . Consequently, for  $\frac{\lambda}{k-j} > 0$ , there exists  $j_{\frac{\lambda}{k-i}}$  such that  $\omega_{\frac{\lambda}{k-i}}(\xi_{j+2}, \xi_{j+3}) < \frac{\epsilon}{k-j}, \ \forall \ j \geq j_{\frac{\lambda}{k-j}}$ . Now,

$$\begin{split} \omega_{\lambda}(\xi_{j+2},\xi_{k+2}) &= \omega_{\frac{\lambda}{k-j}}(\xi_{j+2},\xi_{j+3}) + \omega_{\frac{\lambda}{k-j}}(\xi_{j+3},\xi_{j+4}) + \ldots + \omega_{\frac{\lambda}{k-j}}(\xi_{k+1},\xi_{k+2}) \\ &= \frac{\lambda}{k-j} + \frac{\lambda}{k-j} + \ldots + \frac{\lambda}{k-j} \\ &= \epsilon, \text{for all } j,k \geq j_{\frac{\lambda}{k-j}}. \end{split}$$

This implies that the sequence  $\{\Omega^j \xi_0\}$  is Cauchy. There is a point  $\xi \in X$  such that  $\xi_j \to \xi$  as  $j \to \infty$  according to the completeness of  $(X_\omega, \omega_\lambda)$ . Also, since  $\Omega^2$  is continuous, it is clear that

$$\omega_{\lambda}(\xi, \Omega^{2}\xi) = \lim_{j \to \infty} \omega_{\lambda}(\xi_{j+2}, \Omega^{2}\xi) = \lim_{j \to \infty} \omega_{\lambda}(\Omega^{2}\xi_{j}, \Omega^{2}\xi) = 0, \tag{3.18}$$

for all  $\lambda > 0$ . Thus,  $\Omega^2 \xi = \xi$ . Hence,  $\xi$  is a fixed point of  $\Omega^2$ .

Consider  $\xi$  and  $\zeta$  as two fixed points of  $\Omega$  for uniqueness. Using Property (iii), we have two cases:

**CASE 1:** When  $\lambda > 0$  we see that

$$\omega_{\lambda}(\xi,\zeta) = \omega_{\lambda}(\Omega^{2}\xi,\Omega^{2}\zeta) \leq \alpha(\xi,\zeta)\omega_{\lambda}(\Omega^{2}\xi,\Omega^{2}\zeta) 
\leq \kappa[\eta_{1}\omega_{\lambda}(\Omega\xi,\Omega\zeta)^{\lambda} + \eta_{2}\omega_{\lambda}(\Omega\xi,\Omega^{2}\xi)^{\lambda} 
+ \eta_{3}\omega_{\lambda}(\zeta,\Omega\zeta)^{\lambda} + \eta_{4}\omega_{\lambda}(\Omega\zeta,\Omega^{2}\zeta)^{\lambda} 
+ \eta_{5}\omega_{\lambda}(\Omega\zeta,\Omega^{2}\xi)^{\lambda} + \delta\omega_{\lambda}(\zeta,\Omega\xi)^{\lambda}]^{\frac{1}{\lambda}} 
= \kappa[\eta_{1}\omega_{\lambda}(\xi,\zeta)^{\lambda} + \eta_{2}\omega_{\lambda}(\xi,\xi)^{\lambda} + \eta_{3}\omega_{\lambda}(\zeta,\zeta)^{\lambda} 
+ \eta_{4}\omega_{\lambda}(\zeta,\zeta)^{\lambda} + \eta_{5}\omega_{\lambda}(\zeta,\xi)^{\lambda} + \delta\omega_{\lambda}(\zeta,\xi)^{\lambda}]^{\frac{1}{\lambda}}.$$
(3.19)

Using powers of  $\lambda$  inequality (3.19), gives

$$\omega_{\lambda}(\xi,\zeta)^{\lambda} \leq \kappa^{\lambda} [\eta_{1}\omega_{\lambda}(\xi,\zeta)^{\lambda} + \eta_{2}\omega_{\lambda}(\xi,\xi)^{\lambda} + \eta_{3}\omega_{\lambda}(\zeta,\zeta)^{\lambda} + \eta_{4}\omega_{\lambda}(\zeta,\zeta)^{\lambda} + \eta_{5}\omega_{\lambda}(\zeta,\xi)^{\lambda} + \delta\omega_{\lambda}(\zeta,\xi)^{\lambda}]$$

$$= \kappa^{\lambda} [\eta_{1}\omega_{\lambda}(\xi,\zeta)^{\lambda} + \eta_{5}\omega_{\lambda}(\xi,\zeta)^{\lambda} + \delta\omega_{\lambda}(\xi,\zeta)^{\lambda}]$$

$$= \kappa^{\lambda} (\eta_{1} + \eta_{5} + \delta)\omega_{\lambda}(\xi,\zeta)^{\lambda}.$$
(3.20)

Thus, inequality (3.20) becomes

$$(1 - \kappa^{\lambda}(\eta_1 + \eta_5 + \delta))\omega_{\lambda}(\xi, \zeta) < 0, \tag{3.21}$$

so, inequality (3.21) yields  $\omega_{\lambda}(\xi,\zeta) \leq 0$ . Hence  $\omega_{\lambda}(\xi,\zeta) = 0$ , for all  $\lambda > 0$  and this implies that  $\xi = \zeta$ . Hence,  $\xi$  is the unique fixed point of  $\Omega$  and the proof is complete.

**CASE 2:** When  $\lambda > 0$ , we see that

$$\omega_{\lambda}(\xi,\zeta) = \omega_{\lambda}(\Omega^{2}\xi,\Omega^{2}\zeta) \leq \alpha(\xi,\zeta)\omega_{\lambda}(\Omega^{2}\xi,\Omega^{2}\zeta)$$

$$\leq \kappa[\omega_{\lambda}(\Omega\xi,\Omega\zeta)^{\eta_{1}} \cdot \omega_{\lambda}(\Omega\xi,\Omega^{2}\xi)^{\eta_{2}}$$

$$\cdot \omega_{\lambda}(\zeta,\Omega\zeta)^{\eta_{3}} \cdot \omega_{\lambda}(\Omega\zeta,\Omega^{2}\zeta)^{\eta_{4}}$$

$$\cdot \omega_{\lambda}(\Omega\zeta,\Omega^{2}\xi)^{\eta_{5}} \cdot \omega_{\lambda}(\zeta,\Omega\xi)^{\delta}]$$

$$= \kappa[\omega_{\lambda}(\xi,\zeta)^{\eta_{1}} \cdot \omega_{\lambda}(\xi,\xi)^{\eta_{2}} \cdot \omega_{\lambda}(\zeta,\zeta)^{\eta_{3}}$$

$$\cdot \omega_{\lambda}(\zeta,\zeta)^{\eta_{4}} \cdot \omega_{\lambda}(\zeta,\xi)^{\eta_{5}} \cdot \omega_{\lambda}(\zeta,\xi)^{\delta}]$$

$$\leq \kappa[\omega_{\lambda}(\xi,\zeta)^{\eta_{1}} \cdot \omega_{\lambda}(\xi,\zeta)^{\eta_{5}} \cdot \omega_{\lambda}(\xi,\zeta)^{\delta}]$$

$$\leq \kappa[\omega_{\lambda}(\xi,\zeta)^{\eta_{1}} + \eta_{5} + \delta]. \tag{3.22}$$

Thus, inequality (3.22), becomes

$$\omega_{\lambda}(\xi,\zeta)^{(1-(\eta_1+\eta_5+\delta))} \le \kappa, \tag{3.23}$$

hence, inequality (3.23) gives

$$\omega_{\lambda}(\xi,\zeta) \le \kappa^{(1-(\eta_1+\eta_5+\delta))},\tag{3.24}$$

letting  $\kappa \to \infty$  in inequality (3.24), yields  $\omega_{\lambda}(\xi,\zeta) \le 0$ , hence  $\omega_{\lambda}(\xi,\zeta) = 0$ , for all  $\lambda > 0$  and this implies that  $\xi = \zeta$ . Hence,  $\xi$  is the unique fixed point of  $\Omega$  and the proof is complete.

**Corollary 3.4.** Let  $(X_{\omega}, \omega_{\lambda})$  be a complete modular metric space,  $\Omega: X_{\omega} \longrightarrow X_{\omega}$  be an operator. Suppose that the following conditions are satisfied:

- (i)  $\Omega$  is a triangular  $\alpha$ -admissible;
- (ii) there is  $\xi_0 \in X_\omega$  such that  $\alpha(\xi_0, \Omega \xi_0) \geq 1$ ;
- (iii) there are  $\eta_1, \eta_2, \eta_3, \eta_5 \in [0, 1)$ , with  $\eta_1 + \eta_2 + \eta_3 + \eta_5 \leq 1$ ,  $\kappa \in (0, 1)$  such that

$$\alpha(\xi,\zeta)\omega_{\lambda}(\Omega^{2}\xi,\Omega^{2}\zeta) \leq \kappa[\eta_{1}\omega_{\lambda}(\Omega\xi,\Omega\zeta) + \eta_{2}\omega_{\lambda}(\Omega\xi,\Omega^{2}\xi) + \eta_{3}\omega_{\lambda}(\zeta,\Omega\zeta) + \eta_{5}\omega_{\lambda}(\Omega\zeta,\Omega^{2}\xi)],$$

for all  $\xi, \zeta \in O_{\Omega}(\xi_0)$ ,  $\lambda > 0$ :

(iv)  $\Omega^2$  is continuous.

After that, the sequence  $\{\Omega^j \xi_0\}$  converges to a point  $\xi \in X_\omega$ . Additionally,  $\xi$  is a distinct fixed point of  $\Omega$ .

*Proof.* Setting  $\eta_4 = \delta = 0$  in Theorem 3.3, the result follows immediately.

**Corollary 3.5.** Let  $(X_{\omega}, \omega_{\lambda})$  be a complete modular metric space,  $\Omega: X_{\omega} \longrightarrow X_{\omega}$  be an operator. Suppose that the following conditions are satisfied:

(i)  $\Omega$  is a triangular  $\alpha$ -admissible;

- (ii) there is  $\xi_0 \in X_\omega$  such that  $\alpha(\xi_0, \Omega \xi_0) \geq 1$ ;
- (iii)  $\eta_1, \eta_2, \eta_4, \delta \in [0, 1)$ , with  $\eta_1 + \eta_2 + \eta_4 + \delta \leq 1$ , such that

$$\alpha(\xi,\zeta)\omega_{\lambda}(\Omega^{2}\xi,\Omega^{2}\zeta) \leq \kappa[\eta_{1}\omega_{\lambda}(\Omega\xi,\Omega\zeta) + \eta_{2}\omega_{\lambda}(\Omega\xi,\Omega^{2}\xi) + \eta_{4}\omega_{\lambda}(\Omega\zeta,\Omega^{2}\zeta) + \eta_{6}\omega_{\lambda}(\zeta,\Omega\xi)],$$

for all  $\xi, \zeta \in O_{\Omega}(\xi_0), \lambda > 0$ ;

(iv)  $\Omega^2$  is continuous.

After that, the sequence  $\{\Omega^j \xi_0\}$  converges to a point  $\xi \in X_\omega$ . Additionally,  $\xi$  is a distinct fixed point of  $\Omega$ .

**Corollary 3.6.** Let  $(X_{\omega}, \omega_{\lambda})$  be a complete modular metric space,  $\Omega: X_{\omega} \longrightarrow X_{\omega}$  be an operator. Suppose that the following conditions are satisfied:

- (i)  $\Omega$  is a triangular  $\alpha$ -admissible;
- (ii) there is  $\xi_0 \in X_\omega$  such that  $\alpha(\xi_0, \Omega \xi_0) \geq 1$ ;
- (iii) there are  $\eta_1, \eta_2, \eta_3, \eta_5 \in [0, 1)$ , with  $\eta_1 + \eta_2 + \eta_3 + \eta_5 \leq 1$ ,  $\kappa \in (0, 1)$  such that  $\alpha(\xi, \zeta)\omega_{\lambda}(\Omega^2\xi, \Omega^2\zeta) \leq \kappa[\omega_{\lambda}(\Omega\xi, \Omega\zeta)^{\eta_1} \cdot \omega_{\lambda}(\Omega\xi, \Omega^2\xi)^{\eta_2} \cdot \omega_{\lambda}(\zeta, \Omega\zeta)^{\eta_3} \cdot \omega_{\lambda}(\Omega\zeta, \Omega^2\xi)^{\eta_5}],$  for all  $\xi, \zeta \in O_{\Omega}(\xi_0)$ ,  $\lambda = 0$ ;
- (iv)  $\Omega$  is continuous.

After that, the sequence  $\{\Omega^j \xi_0\}$  converges to a point  $\xi \in X_\omega$ . Additionally,  $\xi$  is a distinct fixed point of  $\Omega$ .

*Proof.* Setting  $\eta_4 = \delta = 0$  in Theorem 3.3, the result follows immediately.

**Corollary 3.7.** Let  $(X_{\omega}, \omega_{\lambda})$  be a complete modular metric space,  $\Omega: X_{\omega} \longrightarrow X_{\omega}$  be an operator. Suppose that the following conditions are satisfied:

- (i)  $\Omega$  is a triangular  $\alpha$ -admissible;
- (ii) there is  $\xi_0 \in X_\omega$  such that  $\alpha(\xi_0, \Omega \xi_0) \ge 1$ ;
- (iii)  $\eta_1, \eta_2, \eta_4, \delta \in [0, 1)$ , with  $\eta_1 + \eta_2 + \eta_4 + \delta \leq 1$ ,  $\kappa \in (0, 1)$  such that  $\alpha(\xi, \zeta)\omega_{\lambda}(\Omega^2\xi, \Omega^2\zeta) \leq \kappa[\omega_{\lambda}(\Omega\xi, \Omega\zeta)^{\eta_1} \cdot \omega_{\lambda}(\Omega\xi, \Omega^2\xi)^{\eta_2} \cdot \omega_{\lambda}(\Omega\zeta, \Omega^2\zeta)^{\eta_4} \cdot \omega_{\lambda}(\zeta, \Omega\xi)^{\delta}],$  for all  $\xi, \zeta \in O_{\Omega}(\xi_0)$ ,  $\lambda = 0$ ;
- (iv)  $\Omega$  is continuous.

After that, the sequence  $\{\Omega^j \xi_0\}$  converges to a point  $\xi \in X_\omega$ . Additionally,  $\xi$  is a distinct fixed point of  $\Omega$ .

Other important corollaries can be obtained by considering particular cases of modular metric spaces and by varying the constant  $\eta_i \in [0,1)$ , for i=1,2,3,4,5 and  $\delta \geq 0$ . An example is constructed in this section to bolster the assumptions of Theorem 3.3.

**Example 3.8.** Let  $X_{\omega}=[0,1]$  endowed with the metric  $\omega_{\lambda}:X_{\omega}\times X_{\omega}\to [0,\infty]$  defined by

$$\omega_{\lambda}(\xi,\zeta) = \left\{ egin{array}{ll} rac{|\xi-\zeta|}{\lambda} & ext{if } \xi=\zeta, \ 0 & ext{otherwise}. \end{array} 
ight.$$

For all  $\xi, \zeta \in X_{\omega}$  with  $\xi \leq \zeta$  and  $\lambda > 0$ . Clearly,  $(X_{\omega}, \omega_{\lambda})$  is a complete modular metric space. Choose

$$\alpha(\xi,\zeta) = \begin{cases} 1 & \text{if } \xi,\zeta \in [0,\infty], \\ \frac{1}{2} & \text{otherwise.} \end{cases}$$

Define  $\Omega: X_\omega \to X_\omega$  as  $\Omega \xi = \frac{\xi}{3}$  for all  $\xi \in X_\omega$  and take  $\eta_1 = \frac{1}{6}$ ,  $\eta_2 = \frac{1}{4}$ ,  $\eta_3 = \frac{1}{8}$ ,  $\eta_4 = \frac{1}{16}$ ,  $\eta_5 = \delta = \frac{1}{32}$ . Then  $\eta_1 + \eta_2 + \eta_3 + \eta_4 + \eta_5 + \delta \leq 1$ . Furthermore,

$$\begin{split} \omega_{\lambda}(\Omega^{2}\xi,\Omega^{2}\zeta) &= \frac{|\Omega^{2}\xi-\Omega^{2}\zeta|}{|9\lambda|} \\ &= \frac{|\xi-\zeta|}{18\lambda} + \frac{|\xi-\zeta|}{18\lambda} \\ &= \frac{|\xi-\zeta|}{18\lambda} + \frac{|\xi-\zeta|}{36\lambda} + \frac{|\xi-\zeta|}{36\lambda} \\ &= \frac{|\xi-\zeta|}{18\lambda} + \frac{|\xi-\zeta|}{36\lambda} + \frac{|\xi-\zeta|}{72\lambda} + \frac{|\xi-\zeta|}{72\lambda} \\ &= \frac{|\xi-\zeta|}{18\lambda} + \frac{|\xi-\zeta|}{36\lambda} + \frac{|\xi-\zeta|}{72\lambda} + \frac{|\xi-\zeta|}{144\lambda} + \frac{|\xi-\zeta|}{144\lambda} \\ &= \frac{|\xi-\zeta|}{18\lambda} + \frac{|\xi-\zeta|}{36\lambda} + \frac{|\xi-\zeta|}{72\lambda} + \frac{|\xi-\zeta|}{144\lambda} + \frac{|\xi-\zeta|}{144\lambda} \\ &= \frac{|\xi-\zeta|}{18\lambda} + \frac{|\xi-\zeta|}{36\lambda} + \frac{|\xi-\zeta|}{72\lambda} + \frac{|\xi-\zeta|}{144\lambda} + \frac{|\xi-\zeta|}{288\lambda} + \frac{|\xi-\zeta|}{288\lambda} \\ &= \frac{|\frac{\xi}{3}-\frac{\zeta}{3}|}{6\lambda} + \frac{|\frac{\xi}{9}-\frac{\zeta}{9}|}{4\lambda} + \frac{|\frac{\xi}{9}-\frac{\zeta}{9}|}{8\lambda} + \frac{|\frac{\xi}{9}-\frac{\zeta}{9}|}{16\lambda} + \frac{|\frac{\xi}{9}-\frac{\zeta}{9}|}{32\lambda} + \frac{|\frac{\xi}{9}-\frac{\zeta}{9}|}{32\lambda} \\ &\leq \frac{|\frac{\xi}{3}-\frac{\zeta}{3}|}{6\lambda} + \frac{|\frac{\xi}{3}-\frac{\zeta}{9}|}{4\lambda} + \frac{|\xi-\zeta|}{8\lambda} + \frac{|\xi-\zeta|}{32\lambda} + \frac{|\frac{\xi}{9}-\frac{\zeta}{9}|}{32\lambda} + \frac{|\frac{\xi}{9}-\zeta|}{32\lambda} \\ &\leq \frac{|\frac{\xi}{3}-\frac{\zeta}{3}|}{6\lambda} + \frac{|\frac{\xi}{3}-\frac{\zeta}{9}+\frac{\xi}{9}-\frac{\xi}{9}|}{4\lambda} + \frac{|\xi-\zeta|}{8\lambda} + \frac{|\frac{\xi}{9}-\frac{\zeta}{9}|}{16\lambda} + \frac{|\frac{\xi}{9}-\frac{\zeta}{9}|}{32\lambda} + \frac{|\frac{\xi}{9}-\zeta|}{32\lambda} \\ &\leq \frac{|\frac{\xi}{3}-\frac{\zeta}{3}|}{6\lambda} + \frac{|\frac{\xi}{3}-\frac{\zeta}{9}|+|\frac{\xi}{9}-\frac{\zeta}{9}|}{4\lambda} + \frac{|\xi-\zeta|}{8\lambda} + \frac{|\frac{\xi}{3}-\frac{\zeta}{9}|}{16\lambda} + \frac{|\frac{\xi}{9}-\frac{\zeta}{3}|}{32\lambda} + \frac{|\frac{\xi}{3}-\zeta|}{32\lambda} \\ &\leq \frac{|\frac{\xi}{3}-\frac{\zeta}{3}|}{6\lambda} + \frac{|\frac{\xi}{3}-\frac{\zeta}{9}|+|\frac{\zeta}{9}-\frac{\zeta}{9}|}{4\lambda} + \frac{|\zeta-\zeta|}{8\lambda} + \frac{|\frac{\zeta}{9}-\frac{\zeta}{9}|}{16\lambda} + \frac{|\frac{\xi}{9}-\frac{\zeta}{3}|}{32\lambda} + \frac{|\frac{\xi}{9}-\zeta|}{32\lambda} \\ &\leq \frac{|\frac{\xi}{3}-\frac{\zeta}{3}|}{6\lambda} + \frac{|\frac{\xi}{3}-\frac{\zeta}{9}|+|\frac{\zeta}{9}-\frac{\zeta}{9}|}{8\lambda} + \frac{|\zeta-\zeta|}{16\lambda} + \frac{|\frac{\xi}{9}-\frac{\zeta}{9}|}{32\lambda} + \frac{|\frac{\xi}{9}-\zeta|}{32\lambda} \\ &\leq \frac{|\frac{\xi}{3}-\frac{\zeta}{3}|}{6\lambda} + \frac{|\frac{\xi}{3}-\frac{\zeta}{9}|+|\frac{\zeta}{9}-\frac{\zeta}{9}|}{8\lambda} + \frac{|\frac{\zeta}{3}-\frac{\zeta}{9}|}{16\lambda} + \frac{|\frac{\xi}{9}-\frac{\zeta}{3}|}{32\lambda} + \frac{|\frac{\xi}{9}-\zeta|}{32\lambda} \\ &\leq \frac{|\frac{\xi}{3}-\frac{\zeta}{3}|}{6\lambda} + \frac{|\frac{\xi}{3}-\frac{\zeta}{9}|+|\frac{\zeta}{9}-\frac{\zeta}{9}|}{8\lambda} + \frac{|\frac{\zeta}{3}-\frac{\zeta}{9}|}{16\lambda} + \frac{|\frac{\xi}{9}-\frac{\zeta}{3}|}{32\lambda} + \frac{|\frac{\xi}{3}-\zeta|}{32\lambda} \\ &\leq \frac{|\frac{\xi}{3}-\frac{\zeta}{3}|}{6\lambda} + \frac{|\frac{\zeta}{3}-\frac{\zeta}{9}|}{4\lambda} + \frac{|\zeta-\zeta|}{3\lambda} + \frac{|\frac{\zeta}{3}-\frac{\zeta}{9}|}{16\lambda} + \frac{|\frac{\zeta}{9}-\frac{\zeta}{9}|}{32\lambda} + \frac{|\frac{\zeta}{3}-\zeta|}{32\lambda} \\ &\leq \frac{|\xi-\zeta|}{6\lambda} + \frac{|\xi-\zeta|}{3} + \frac{|\xi-\zeta|}{3} + \frac{|\xi-\zeta|}{3} + \frac{|\xi-\zeta|}{3\lambda} + \frac{|\xi-\zeta|}{3} + \frac{|\xi-\zeta|}{3\lambda} + \frac{|\xi-\zeta|}{3\lambda} + \frac{|\xi-\zeta|}{3\lambda} + \frac{|\xi-\zeta|}{3\lambda} + \frac{|\xi-\zeta|}{3\lambda}$$

$$\begin{split} &+\frac{1}{16}\omega_{\lambda}(\Omega\zeta,\Omega^{2}\zeta)+\frac{1}{32}\omega_{\lambda}(\Omega\zeta,\Omega^{2}\xi)+\frac{1}{32}\omega_{\lambda}(\zeta,\Omega\xi)\\ &\leq \eta_{1}\omega_{\lambda}(\Omega\xi,\Omega\zeta)+\eta_{2}\omega_{\lambda}(\Omega\xi,\Omega^{2}\xi)+\eta_{3}\omega_{\lambda}(\zeta,\Omega\zeta)\\ &+\eta_{4}\omega_{\lambda}(\Omega\zeta,\Omega^{2}\zeta)+\eta_{5}\omega_{\lambda}(\Omega\zeta,\Omega^{2}\xi)+\delta\omega_{\lambda}(\zeta,\Omega\xi). \end{split}$$

This indicates that  $\Omega$  meets every requirement of Theorem 3.2. Because of this,  $\Omega$  has a unique fixed point  $\xi = 0$ .

## 4. Conclusion

In connection with modular metric spaces, this study has established types of contractions and related Theorems of fixed points. Theorem 3.2 dealt with the requirements for the existence of an approximate fixed point, while the existence and uniqueness of the fixed point for the specified operator were established by Theorem 3.3. The hypothesis of the primary finding is supported by Example 3.8. Moreover, several relevant findings in the literature have been found to be improved by the notion in these studies.

## **Competing Interests**

The authors declare that they have no competing interests.

### References

- [1] F.S. Alshammari, K.P. Reshma and R. George, Generalised Presic type operators in modular metric space and an application to integral equations of Caratheodory type functions, J. Math., 2021 (2021), Article No: 7915448, 1–20.
- [2] S. Banach, Sur les opérations dans les ensembles abstraits et leur application aux équations intégrales, Fundam. Math., 3 (1922), 133-181.
- [3] V.V. Chistyakov, Modular metric spaces, I: basic concepts, Nonlinear Anal., Theory Methods Appl., 72 (2010), 1–14.
- [4] V.V. Chistyakov, Modular metric spaces, II: Application to superposition operators, Non-linear Anal., Theory Methods Appl., 72 (2010), 15–30.
- [5] D. Das, S. Narzary, Y. M. Singh, M. S. Khan and S. Sessa, Fixed point results on partial modular metric space, Axioms, 11 (2022), 1–12.
- [6] D. Dumitrescu and A. Pitea, Convex contractive mappings in generalized metric spaces, Politehn. Univ. Bucharest Sci. Bull. Ser. A Appl. Math. Phys., 86 (2024), 109–122.
- [7] S. Grailoo, A. Bodaghi and A.N. Motlagh, Some results in metric modular spaces, Int. J. Nonlinear Anal. Appl., 13 (2022), 983–988.
- [8] R. Kannan, Some results on fixed points, Bull. Calcutta Math. Soc., 60 (1968), 71-76.
- [9] E. Karapınar and A. Fulga, An admissible hybrid contraction with an Ulam type stability, Demonstr. Math., 52 (2019), 428–436.

- [10] E. Karapınar, A. Fulga, N. Shahzad and A.F. Roldán López de Hierro, Solving integral equations by means of fixed point theory, J. Funct. Spaces, 2022 (2022), Article ID: 7667499, 1–16.
- [11] M.S. Khan, Y.M. Singh, G. Maniu and M. Postolache, On generalized convex contractions of type-2 in *b*-metric and 2-metric spaces, J. Nonlinear Sci. Appl., 10 (2017), 2902–2913.
- [12] C. Khaofong, P. Saipara and A. Padcharoen, Some results of generalized Hardy-Roger mappings in rectangular b-metric spaces, Nonlinear Funct. Anal. Appl., 28 (2023), 1097– 1113.
- [13] S. Koshi and T. Shimogaki. On *F*-norms of quasi-modular spaces, J. Fac. Sci., Hokkaido Univ., Ser. I, 15 (1961), 202–218.
- [14] W.A.J. Luxemburg, Banach Function Spaces, Technische Hogeschool te Delft, Delft, 1995.
- [15] M.A. Miandaragh, M. Postolache and S. Rezapour, Approximate fixed points of generalized convex contractions, Fixed Point Theory Appl., 2013 (2013), Article No: 255, 1–8.
- [16] C. Mongkolkeha, W. Sintunavarat and P. Kumam, Fixed point theorems for contraction mappings in modular metric spaces, Fixed Point Theory Appl., 2011 (2011), Article No. 93, 1–9.
- [17] J. Mosielak and W. Orlicz, On modular spaces, Studia Math, 18 (1959), 49-65.
- [18] J. Musielak and W. Orlicz, Some remarks on modular spaces, Bull. Acad. Polon. Sci. Sér. Sci. Math. Astr. Phys., 7 (1959), 661–668.
- [19] H. Nakano, Modulared Semi-Ordered Linear Spaces, Maruzen Company, Tokyo, 1950.
- [20] G.A. Okeke and D. Francis, Some common fixed point theorems in generalized modular metric spaces with applications, Scientific African, 23 (2024), 1–22.
- [21] A. Padcharoen and P. Saipara, New hybrid generalized weakly contractive mappings, J. Math. Comput. Sci., 11 (2021), 6699–6713.
- [22] O. Popescu, Some new fixed point theorems for  $\alpha$ -Geraghty contraction type maps in metric spaces, Fixed Point Theory Appl., 2014 (2014), Article No: 190, 1–12.
- [23] H. Rahimpoor, Some contraction fixed point theorems in partially ordered modular metric spaces, Int. J. Nonlinear Anal. Appl., 14 (2023), 273–282.
- [24] H. Rahimpoor and I. Nikoufar, Some results for cyclic weak contractions in modular metric space, J. Linear Topol. Algebra, 12 (2023), 57–66.
- [25] M.S. Shagari, R. Chiroma, T. Alotaibi, M. Noorwali, A. Saliu and A. Azam, Notes on quasi contractive operators and their applications, Res. Math., 11 (2024), Paper No. 2424598, 1–11.

- [26] M. S. Shagari, R. Chiroma and S. Yahaya, Ciric-Rhoades-type contractive mappings, Nonlinear Convex Anal. Optim., 3 (2024), 91–103.
- [27] S. Yahaya, M.S. Shagari and I.A. Fulatan, Fixed points of bilateral multivalued contractions, Filomat, 38 (2024), 2835–2846.
- [28] S. Yamamuro, On conjugate spaces of Nakano spaces, Trans. Am. Math. Soc., 90 (1959), 291–311.
- [29] M. Younis, D. Singh, S. Radenović and M. Imdad, Convergence theorems for generalized contractions and applications, Filomat, 34 (2020), 945–964.
- [30] S. Karmakar, L.K. Dey, A. Chanda and Z.D. Mitrović, On some non-linear contractions in modular metric spaces, Filomat, 34 (2020), 3971–3980.
- [31] Y. Sharma and S. Jain, Coupled fixed point theorems in modular metric spaces endowed with a graph, Kyungpook Math. J., 61 (2021), 441–453.